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Ans

Question ID : 26433070435
Status : Answered
Chosen Option : 3




Q2 fFafafEa & Q& a1 sier-we & 1 skaen ¥ uyafig (7) F =M W gm?
ABCD, EBCD, ?, OBCD, UBCD

Ans X 1.JBCD
« 2.1BCD
< 3.LBCD
X 4.KBCD

Question ID : 26433059855
Status : Answered
Chosen Option : 2

Q3 57 S SECHGT H TAS B S o I I TRANES (?) F FA W HH?

Ans

X< 2

Question ID : 26433066043
Status : Answered
Chosen Option : 3

Q4 I awed &1 799 FIRY St Y 2eg A I YpR Jafe 2 o TR goRT 2sg ugd
TTeg | Tafta @1 (R1eal BT Srfyuf Treef & =q H AHET SIMT ARy R Wee H Sreriraie il
a1 ST & STUR W T gk A Haifera &1 foan s =nfyy)
gRexll : gR P awgY :: Y&HeRN : ?

Ans X 1. YR 3¢

X 2. 98 agqy
3. 9§ B TEGY
X 4. 95 991 TR

Question ID : 26433067814
Status : Answered
Chosen Option : 3




Q5 39 BT I9 B R TBm smuw # It yeR w6t § R ver el
8 e & et 21
(Fite: T3l Bt ITF gew il | fyutira fary famm, gof semsit w nfordg wfeang #t
ST TIRT | ISTeRVT & Y 13 - Kty Aferant 9 % SisAIae AN $3-1 3afs 13
T forar o1 Wrar 81 13 BT 1 30 3 ® fyuTfora w1 3k 67 1 3R 3 W nifvrdia wifsrang
HT o1 A T 2 1)

(2, 4,20)
(4,5,41)

Ans X 1.(7,3,59)
% 2.(9, 2, 86)
X 3.(5,3,32)
& 4. (4,3,25)

Question ID : 26433070231
Status : Answered
Chosen Option : 4

Q.6 I farey &1 g B3 Wl At Ten & St yeR H&fid @ S yer gedl Sen ugedt
TEI | Heftra @ iR o8 e uitdl He @ Safta g1
16:20::256:7::49:56
Ans 7 1.272
X 2. 264
X 3.266

X 4.278

Question ID : 26433067902
Status : Answered
Chosen Option : 1

Q7 gﬂwﬁmﬁﬁmﬁmmﬁwmﬁﬁﬁqmmwﬂﬁ
2

47TYT2
Ans X 1.6x4-8+2+7=17

X 2.4x3-8+2+7=11
& 3.8+4x2-6+9=18
X 4.4-8x3+2+1=-18

Question ID : 264330105110
Status : Answered
Chosen Option : 3

Q.8 faE MU HYAY 3R el &) erFyd® U | I8 W §¢ % U=l § & 7 e ga
Y& € 98 I U § 7 aat § e wedila gt 8, FHofa 3% fr e e e 7 @
ﬁm@ﬁw&wﬁmmﬁmwﬁmm@%%ﬁl

Wﬁi?&?&%
PO |
R &
wgﬁfm I

|Wﬁa PR §
Il. TS A, IRy §1
. $2 IR, |
Iv. o IR, AT 81
Ans 1. Hqdl ISR |11 SR BRAT &

X 2. Had B 11 3R IV SRR AR §
2 3. bacl FIspy | 3R 11 STERT A &
X 4. P 1t Fpd SR T axar &

Question ID : 26433068550
Status : Answered
Chosen Option : 1




Q.9 u® FAfyd g YT, "HAIRCAP® Y 'IAHRPAC' 3R 'LEADMAN' %1 'AELDNAM' forar
AT 81 ST HTET § 'FACTFUL' 9 forar siem»?

Ans X 1.CAFTULF
o 2. CAFTLUF
#< 3. CAFTLFU
/< 4. CATFLUF

Question ID : 26433059885
Status : Answered
Chosen Option : 2

Q.10 I fyreq HT au BI il foT T Vgl & I 9l HH o) Fefa sear g P su
3l eI H 3md
1. Amphibian
2. Ambiguous
3. Ambience
4. Amplify
5. Amorphous
6. Ambivalent
7. Ameliorate

Ans X 1.3,2,6,7,5,4,1
X 2.3,26,571,4
% 3.3,2,4,6,7,51
& 4.3,2,6,7,51,4

Question ID : 26433094935
Status : Answered
Chosen Option : 4

Q.11 FafafEa ar ser-age! § ¥ 7 5 e 78F 33U § ok T 399 eriva 81
BRI H&R-TYE BT TG B
Ans X 1.TFE

X 2.RHG
X 3.EUT
& 4.TRQ

Question ID : 26433069005
Status : Answered
Chosen Option : 4




Q12 T § g T AT eer-3reeT TRufaEr @ gt T g1 '6 gl arer
Folh & a9 weles T TEAT 71T HieT]
Figure 1 Figure 2 Figure 3
Ans X 1.5
K22
& 3.3
X 41
Question ID : 26433069433
Status : Answered
Chosen Option: 3
Q.13 39 BT Ig B R FBIme 3y # S veR Taft § o ver frafafeaa
o9 Wt o & TR 1
(Fie: Wil B 3P ged 3wl A faurim fare fam, gof Jemnsi wr nfordty wifsrang «t
ST TIRT | ITeRVT & Y 13 - Kty Aferant SR 1% SisATge AN S3-1 3TfS 13
# fpar ST gar 21 13 B 1 3R 3 H fauTra w3 3R e 1 3R 3 W nifordta dfspamg
FA BT Al T 1)
(76, 4, 19)
(98, 2, 49)
Ans 7 1.(72,4,18)
% 2.(88,2,22)
X 3.(84,12, 4)
2 4.(99, 3, 66)
Question ID : 26433079125
Status : Answered
Chosen Option : 1
Q14 gRIXx YDA B X, YR AT g, X-YPrad g fo X, yorfarg, x s yor e g for
X, Y 3t 984 g, d! Fraferfaa & & o9 91 e a8 fefid sar 8, f p, R d1gEr g2
Ans X 1.P-Q=R

X 2.PxQ=R
X 3.Q-PxR
& 4. P-QxR

Question ID : 264330104969
Status : Answered
Chosen Option : 4




Q.15 T® 3epH faar T B, o | v ue g 21 2 e fawenl # 9 a8 9%t fawew g, st
SSh Y B R BRI
MHDM, MYLC, MPTS, MGBI, ?

Ans X 1.MNRS
X 2. MXYJ
< 3. MUXY
4. MXJY

Question ID : 264330104835
Status : Answered
Chosen Option : 4

ate few 1T et # ¥ 30 Hpla F WH F A FE apia-gEer &
SeATEd (?) ¥ TUS T 3T T 87

T - T )

Ans

Question ID : 26433080504
Status : Answered
Chosen Option : 4

Q.17 7l Y & 39 T TUe &1 90 P o Hie T « & ™M R WA W®
o T wfieRur wferd 81 wrem |
16*3%2*11*9=22

Ans X 1.5 X, 4, +

K2.0%x, 5+ -
V3.x,+,—,+
Kb+ X+

Question ID : 26433068596
Status : Answered
Chosen Option : 3




18 sx Rrwew WA F TTA FY S & AE Al F dEfERT ¥ (gEE B

Ans

sty w81

<)

Question ID : 26433068722

Status : Answered

Chosen Option : 4

Q.19

‘A@B FTAFR A, BRTUAR

‘A& B B3I R A BB R

A#B BT B, ABT T
IS@T#P@Q#R&VE T, Q3 [5d UeR Jefid g2

Ans X' 1. 9gd

X 2. "rar

X 3.4

o 4. 99

Question ID : 26433068460
Status : Answered
Chosen Option : 4

Q.20 I fIreq T 9= B3, S dIR Vg ¥ W UPR Jafa g, For UpR gaRT Ueg, Ugd

Ans

Teg | Tafta @1 (Rreal Bt srdyuf & wregt & =0 F A1 S TR SR el B I
3&RY P TRBAT / TIH] B TBT / TR P BT P YR W TP g8 A Hafera =81 fapar
ST AR )
BT : B AT AT ?

X 1T

X2

« 3. 35

X 4,30l

Question ID : 26433056586

Status : Answered

Chosen Option : 3




Q.21 Fmfafad ot & vafg (7) F =M R $19 d Ten s

5,12, 26, ?, 110, 222
Ans X 1.56
& 2.54
X 3.52
X 4.50

Question ID : 26433067597
Status : Answered
Chosen Option : 2

Q.22 = fou U uy #, IR T=m g 3T T ¥ | vle g § (<) & 9l 3R & 7 "en () &

ot ok &t 1 Tem A fft adh/am ey @ Wt ?1 Ji9 g 3 ue adbfAamRidy
F AMMYR R 99 g1 o 7T el & & faww #1 gfg (o §: sensi & 39% Jues
3t # favtfera frg famm, qof wemsit ur wifrant frerfaa @1 st =nfgw | Sargwor 137 -
13 IR HipaE 9 b 13 & SS-1/"eHIATON ST 3nfe faram o whar 81 13 Bt 1 3R 3 |
AT 3R 3R fFR 1 3R 3 R et wfpart e @t ergafa 6 R)

Ans X 1.15-56
X 2.17-64
& 3.11-39
X 4.13-48

Question ID : 264330105068
Status : Answered
Chosen Option : 3

Q.23 gﬂwﬁmﬁﬁmﬁmmﬁwmﬁﬁﬁqmmwﬂﬁ
2

79Ut 9
Ans 1.7 +6-9x4:2=2

X 2.9x3+4+2-7=14
X 3.8x3:6+9-7=2
X 4.9+4x3-7+1=10

Question ID : 264330105112
Status : Answered
Chosen Option : 1

Q.24 ©o fAfda e uTaT d, ICE' B '20' F FU F Feds a1 9rar @ 3R 'HOT &Y '46' b U A
FHedg [bar wrar 81 3 4TS § 'POT' &Y %W Wk Feds far sgm?

Ans X 1.55
X 2.58
< 3.56
o 4.54

Question ID : 26433067341
Status : Answered
Chosen Option : 4




Q.25 1 RT 1T uy § $© BY 3R I a8 31 HYHI W 31uia o frepd g 1w ¥ ey
T HYT B e A, YA & ITH JrH=IE: FId Tt A firar g1 i e ue ofik TR
fruifea #3¥ & F19 § e, T T FY4=1 &1 aifde T0 F gERu Hd 81

DY
1. PYE TR, HPE TR 2
1. 94t 3, ghg §1

foreed:

I. B Fihq, TRR T8I 8
Il. BTS eR’R, A TS 81
. $© Tk, 3 T F

Ans o 1.1 U 1| EFT Y SR BRd B
X 2. ®1% W Frspef argaRur 78 el 8
2 3. 1T 11 G Y SFeRUT v §
X 4. Faq B | SFTERU Rl §

Question ID : 264330104942
Status : Answered
Chosen Option : 3

Section : General Awareness

Q.1 Which measuring instrument consists of a metal triangular frame supported on three
legs, used to measure the radius of curvature of an object such as lenses and curved
mirrors which are spherical in shape?

Ans X 1.Viscometer
«” 2. Spherometer
< 3. Verniercaliper
< 4. Screw gauge

Question ID : 26433092180
Status : Answered
Chosen Option : 4

Q2 ITRA, IS 3R Ries Y Frafif@a & | w1 71 o gHar 82
Ans 1. g UNS d@

X 2. 98< UIv® a@

X 3. ]IS §HH IR

X 4. R-31fYard dives o

Question ID : 26433071441
Status : Answered
Chosen Option : 1

Q.3 Fars 2022 ¥, TRHR 3 Fera® g Mt (faee) siftfoam, 2021 ok TRFRA
(Faferm) siftfFam, 2021 & AR FufiEa @ @ fFad smara w e @ dt?

Ans 1. HFEd YOI
X 2. &9
X 3.7af
X 4. X DI

Question ID : 264330105237
Status : Answered
Chosen Option : 1




Q4 fFmfafey sye TdemAdeal § S 5 o1 ft R, 2022 S gwnfa far e

Ans X 1. I HOR 3R W Pt
X 2. Tor Igdel SR ol Tgdd!
o 3. FURTT SR 3R A SR
X 4. ST HIgUTET 3R fdwid Aeurs

Question ID : 26433082126
Status : Not Answered
Chosen Option : --

Q.5 HIad 2022 #, AT ¥ oW yga Age AT Aega efRpT

T AT
Ans X 1. FRU™

o 2. 399
X 3.3RdEs
X 4. Ufyg ETa

H wite o

Question ID : 264330105266
Status : Answered
Chosen Option : 4

Q.6 fuTse & YHE HSR A H § St # @z
Ans X 1.%%d

o 2. aEg

2 3. ®lcH

X 4. 3y

Question ID : 264330105507
Status : Answered
Chosen Option : 3

Q7 frafifEd § A S 9igd areT & g faem 22
Ans .,1@%33&91413%@117

X 2. dfgd Ma=iar

7 3. uf$d HUR Ted

X 4. Ufsa Ragpur Tmf

Question ID : 26433071634
Status : Answered
Chosen Option : 1

Q.8 73qi wxie Fafafed & 3 e ddfta 37
Ans X' 1. qd-9cd

X 2. Sieed

X 3. TR W WeRt e

o 4. T TS AT

Question ID : 26433064833
Status : Answered
Chosen Option : 4




Ans

1. 3@E fafy
X 2. smafafy
X 3. fafy
2 4,30y fafy

Q.9 wHf gRT ITfed axgalt 3R Aarelt & Fa Tea ! U419 areht shStdt (GDP) e faft
| Pl AT 8l

Question ID : 264330105361
Status : Answered
Chosen Option : 1

Ans

Q.10 fgfrfad & 9 $9 1 W 1704 § T B ALY 9912

X 1. gES
X 2. @STR
X 3. PraBIn
4. gRfeEe

Question ID : 264330105446
Status : Answered
Chosen Option : 3

Ans

Q11 Yy WETYE F e & g o & @ e Rt 1 Suai e s 82

2 1. RS DICARID! BT SfeTejel STANT
% 2. 33y ReR

3. YA 3SR

X 4. TAIEH

Question ID : 264330105608
Status : Answered
Chosen Option : 3

Ans

1. @7 3R 3rd
2 2. 8RR 3R e IRee
X 3.3qd

X 4. TR St

Q.12 1948 & 3NN Hife Tveu A FuferEd 7 A 59 R $g% PR ST THUSR &1 UT?

Question ID : 26433066577
Status : Answered
Chosen Option : 2

Q.13

Ans

A} B ST BT WP' Bl oI 2

X 1. T

X 2. drdt
X 3.t
o 4. TR

Question ID : 26433066522
Status : Answered
Chosen Option : 4




Q.14 g A Ty 99 feeett W ==
Ans X 1.1539

X 2.1545
& 3.1530
X 4.1526

Question ID : 264330105431
Status : Answered
Chosen Option : 3

Q.15 R TG § e 71U § ofte HeRu e e € e seTwmare,
St FRTwe § fRua 89 7
Ans X 1. PACHTS
X 2. FRId
3. TIXAIZEH
X 4. W

Question ID : 26433064749
Status : Not Answered
Chosen Option : --

Q.16 TYg a% UgAa Ugad el 3w RaRerait & R & ot 2, vde faaer e
qer &1 frafor st 81 9 geril & srawre) & 9 o1 frafor s 1

Ans X 1. foud
2. S
X 3. dedy
X 4.91¢ &1 A

Question ID : 264330105635
Status : Answered
Chosen Option : 2

Q.17 5 fadgs & wraur foar wan {5 uRdia =amandizn off ffesr a1 gridta safeal wr
Yhed I THd &2
Ans X 1 3R fa@
X 2. Soren fodt
X 3. St faa
o 4. 3¢ foa

Question ID : 264330105562
Status : Not Answered
Chosen Option : --

Q.18 WYIUTHTUT T Y SrafY TRTUT i gd @ af qd ae A ot B
Ans X 1.10000, 7000

#< 2.14000, 10000
Z5 3.17000, 12000
«” 4. 12000, 10000

Question ID : 264330105162
Status : Answered
Chosen Option : 4




Q.19 ﬁm,gﬁWMHﬁMaﬁﬁﬁ?wwwmﬁﬁmw
3 ?

Ans X 1.95S dd
X 2. Asia
X 3.3sdMd
o 4. TSl 33T BT

Question ID : 26433071561
Status : Answered
Chosen Option : 4

Q.20 iR # ¥ SIH-91 3 2023 F TH.3MM.41.U. (FIBA) TEPeald fay Y B Ao
P QA 32 A | T A8 72
Ans X 1. fiselidig
& 2. SIS
X 3.9

X 4. 3SHRmA

Question ID : 26433059409
Status : Not Answered
Chosen Option : --

Q.21 Tfye= (Hareivrar wxieH) iftfaw, 1978 gRT {69 Mt SifteR &1 ger foar mar U2
Ans 1. HURI T UBR

X 2. Ruan 1 ffepR

X 3. GAE ITAR FT SHRBR

X 4. SfiGiaH B WAl BT ISR

Question ID : 26433080969
Status : Answered
Chosen Option : 1

Q.22 fafafaa & & fFg uRedg T § amar Hela (H e WeleHd) JHT ST 87
Ans X 1. gAm@Uew

2. Jared

X 3. IS

X 4. Uog

Question ID : 26433064695
Status : Answered
Chosen Option : 2

Q.23 RR®T $T IS T 7182
Ans X 1.HCOOH

25 2. (COOH),
” 3. CH3COOH
/< 4. CgH5COOH

Question ID : 26433089655
Status : Answered
Chosen Option : 3




Q.24 YRA ¥ Ugel gae 37 TR BT a9 F o grs-wiis ¥4 (T4, Y. 31R) P W
320 feft ufa ¥ 3 THR | goe T F@E 71

Ans X 1. e ok germere
X 2. SR 3R G
3. STETCEIETG 3R 4ag
X 4. PIABT 3R IS

Question ID : 264330105280
Status : Answered
Chosen Option : 3

Q.25 Biftrar 7 # forar S 31
Ans X 1. TU@T

X 2. 989
X 3. g

4. IS

Question ID : 26433064294
Status : Answered
Chosen Option : 1

Section : Quantitative Aptitude

a # for ov ax o # 2 I§t #§ ve wR FEar 9 @ o s

FT G F FRT &F FoT 3cNea F v Ragor garar mw g
U ganT 2 aul & IcUfed ©F HeELAEdT YER 6 &R & gfdud

110 + =
o HEER—e e SRS
a0
80
70
60
50
40
30 1 .
. HS—
10

' D—

L
o -

S | = =P

2000 2001

3cUIed FT T Fel FEAT = 3,50,000 Scwfed SRT $I del TEAT = 4,40,000
a¥ 2001 # 3cuifed P, R 3R U 9&R &1 &R 1 $oT &1 &1 87

Ans X 1.1,76,000
25 2.2,00,000
/< 3.1,54,000
o 4.2,64,000

Question ID : 26433086275
Status : Answered
Chosen Option : 4




=R fEeees reicocd Tefr fafafer TR
EL) SmfErer i a2 | afde [ o | afie g o | afEe & o
2015 80 0 35 0 50 ] 73 ]
2016 63 21 26 16 46 20 34 23
2017 78 28 15 5 38 15 48 29
2018 42 39 20 38 34 1] 14 12
2019 67 44 14 24 22 30 21 30

Ans X 1.142
o 2. 140
< 3,141

< 4.143

Q2 & o Afar v Toee & 2015 & TWH TR ¥ 95 ¥ e Awt & it &
MRS g AT FAAEr 1 gea AR &) T ded oiga ae 57 AT & st fr der
FT ZATET T TR F AT Firew HR AR F g F IR SEm

few s aut & ake, dvea # wfAa g A caNR Rrevs H For @6 AR w@ea A Wi
@ arer faghr wfafafied 1 ga = & &= w2 i 3

Question ID : 26433082688
Status : Answered
Chosen Option : 2

qP Ugm?

X 1.10 cm
X 2. 14cm
X 3. 12cm

Ans

o 4. 16 cm

Q.3 T TAT APTHR UL, AT 3iaike w91 20 cm § 3R FaA1E 27 cm B, T A WRT B
Ffe R BT 15 om P aTd U SR U A S W1, 36 ur A ot e Sarg

Question ID : 26433063974
Status : Answered
Chosen Option : 4

Ans 1 XDV

XZ.\E:\/?
> 3. XZ:},E

x 4. X3: }.3

Q4 u%?wﬁmgﬁaﬁ%%mﬁ:ﬁ%mﬁiﬁmmwmﬁﬁmm
FATR?

Question ID : 26433075536
Status : Not Answered
Chosen Option : --

Ans X 1.2004
< 2.2006
25 3.2005

o 4.2007

Q5 x =222 y=223 3R z=224%, & x3+y3 + 23 - 3xyz BT UM [ BIOC|

Question ID : 26433076319
Status : Answered
Chosen Option : 4




QU arpfE &, XYZ v O Y ¥ 3k ZT, Rig T W g A T i
I TZ = 12 ecm 3T YZ = 8 cm &, & XY #1 6% a9 Hfaw]

T 12 cm

Ans X 1.6cm
< 2.8cm
o 3.10cm
& 4.9cm

Question ID : 26433079980
Status : Answered
Chosen Option : 3

Q.7 Tfd sin A=4/58, @ sin2 A BT HF T 8?2
Ans 7 1.16/25

X 2.26/25

X 3.36/25

X 4.48/25

Question ID : 264330105894
Status : Answered
Chosen Option : 1

Q.8 TF YRl F 307 A 40 Hiex B g W TF IR @11 I A TH g B T g
U g1 A1 IR U § fo=m & S I°= 3 faanl 9% 10 misec @Y U1 F 4t 8T U7 3%
12 m/sec B °TA | IUBT WS B 38T 4TI TR UhsA & 1w gferyaf &t

foraeit gt (fier #) 9 w1 ghft?

Ans X 1.180
< 2.200
X 3.225
& 4. 240

Question ID : 26433079957
Status : Answered
Chosen Option : 4

s Tfd cos@ +~cos? g =1 &, Al /sin0 + cos28 I HM Jd HIfoY |
Ans 142 Cos8

X 2. 4/2 Sind
x 3. 2 Cosb
2 4. 2 SinB

Question ID : 26433061769
Status : Answered
Chosen Option : 3




Q10 AT 9 I Tcies T & FH=E &1 giaera st s
foremmer 3 T e ATer T 7 SR g

ERIGT)
20%
20%
feror 15%
e
FHTETRAT HT T FTE=5100 T T Fe WEAT = 2050
scuree fasmer 3 FrRa Afgenst & gE 719 Hifw
Ans X 1.32
X 2.40
o 3.36
X 4.24

Question ID : 26433081455
Status : Answered
Chosen Option : 3

QM & % sy & af PA 3R PB &% O a1 39 W 57 YN &0 @Y ¥ 75 ~APB = 54°, &

+OBA = |

Ans

X 1. 40°

x2 30°

&3 27°

X4 35°

Question ID : 26433080233
Status : Answered
Chosen Option : 3




Q.12

Ans

rafaiEa w7 ifar $ FaEEa & e g

afy wafr wiat & Fo FTEEAr 50,000 £, & A&l E 3# D F AerwEr & 6= e dww @2
< 1.400
# 2.600
« 3.500
# 4.300

Question ID : 26433079791
Status : Answered
Chosen Option : 3

Ans

Q.13 %ﬁﬁmmw7ﬁﬁmﬁﬂﬁﬁ%lﬁﬁﬁmﬁﬂgmsﬁﬁ

X 121ad
X 2.25q%
X 3.23 a9
o 4.28T9

Question ID : 26433079874
Status : Answered
Chosen Option : 4

Ans

Q.14 X, Y & Tif & SIHATIUTH 81 9T X, 128, Y, 2 § 1 X BT T 919 B, T Y, 3 B

& 1.27
X 2.30
X 3.9
X 4.18

Question ID : 26433065285
Status : Answered
Chosen Option : 1

Ans

Q.15 TH 93U SieR TG B ShU-Heg W 7% B g1 W ST 8, AP 18% HH aoi &7

I BT 2 | SHP ATH BT Ua=Td 1 22 (2 SHd R db Tg)
& 1.13.41%

X 2.28.75%
< 3.12.82%
X 4.25.65%

Question ID : 26433063700
Status : Answered
Chosen Option : 1




Q.16 60, 148 X 382 P HGWH JHIUGAP (HCF) JTd BT

Ans X 1.24
X 26
X 3.4
& 4.2

Question ID : 26433076169
Status : Answered
Chosen Option : 4

QA7 e x +y+2z=0TUTx2 +y2 + 22 = 40 §, Al xy + yz + zx BT A FT §?
Ans 7 1.-20

X 2.-5

X 3.5

& 4.-10

Question ID : 264330105914
Status : Answered
Chosen Option : 1

Q.18 99 TP YITRT Hie H $US WS AT UTI IHP UH & ¥, Afp T feT A paa
T € STauTA BT S Tl ¥ 1 U U ST IUGNT P R W 30% B P YE
TG &1 ST 6Pt 3| GOY RUA BT SUANT X §T, AfG 98 $H & $H 3 WE @ed 6, Al
I g T WS BT BT R 80% B1 ge i | i 9 = &Y F1ud Rs.1,250,
Rs.1,540 3 Rs.1,375 &, A 4T <YAdH PIUT W 3 S [T P1Ad W WG Thdl 22

Ans 7 1.Rs.2915.50
X 2.Rs.2,933
< 3.Rs.2,760
X 4.Rs.2,775

Question ID : 26433075317
Status : Answered
Chosen Option : 2

Q.19 TR, 30T 3R STEH Th BT B A 12, 20 3 24 G A R A Foa 1 3 w9
TP A1 FRI = B ¢ | FRE B | 1 3 ugat oy, 3 fam vk oo aiv 4 fem
B ST BT BIS a1 81 P14 e faAl & e gt 82

Ans X 1.1
X 2.10
< 3.9
& 4.8

Question ID : 26433075121
Status : Answered
Chosen Option : 4

Q.20 T 3Tt 3R ITP TRaR &1 fafe oag, IHS Ad7 BT 60% &1 98 3T aa= | 30% 3T
60% 1 &I gi UT BT 31 S IS Fd P YRFAIF F9d F 250% § 9¢ Wit 8, Y
a1 fyafe o, 92 gU 399 &1 e wfowma (Freeaw quife 9@ quiffea) 82

Ans X 1.36.6 Ufasd
< 2.43.6 U=
« 3.32.7 Ufa=d
< 4.29.5 iR

Question ID : 26433063202
Status : Not Answered
Chosen Option : --




Q.21 "
Tl 6x2+13x+7=0 & T a, B &, & Ig AT AT
HFifFT, TFwF T o2, p2 &
Ans K1 36x2 —87x+49=0
X2 36x2 —85x—49 =10
V3 36x2 —85x+49=0
X4 36x%+87x—49=0

Question ID : 26433066339
Status : Not Answered
Chosen Option : --

% afy secA =2, @ = - T2 g AW A AT

1+tanZA secA

Ans 1.0
K22
K 3.3
X 41

Question ID : 26433062672
Status : Not Answered
Chosen Option : --

Q.23 Tw 12 1.1, B ard i Uifas Ma &) fuere? U g o1 3MeR faar s g orie
SMYR T AR 12 F.1. 1 X F1 S8 A1 872

Ans X 1.258 9.
X 2.224 97,
X 3. 166 9.
o 4. 19291,

Question ID : 264330105846
Status : Answered
Chosen Option : 4

Q.24 Tfe U 7-3APH T-AT 54p3987, 11 | AU B, ot p PP SRR gRII2
Ans X 1.1

X 24

& 3.5

X409

Question ID : 26433074977
Status : Answered
Chosen Option : 3




Q.25 T URGR & B¢ Y| F1 3 Mg 40 a9 {1 afe s9¥ e rfafy &Y amyg witifer s
ot ST, Y NI Sg A 12.5% Bt gfex gidt 1 Srfafy #1 3myg (aut H) farasit 82

Ans X 1.69
X 2.65
&< 3.59
& 4.75

Question ID : 26433066296
Status : Answered
Chosen Option : 4

Section : English Comprehension

Q.1 Select the option that can be used as a one-word substitute for the given group of
words.
Having a feeling of guilt

Ans X 1. Refulgence
«” 2. Remorse
/< 3. Repugnance
< 4. Restitution

Question ID : 26433073359
Status : Answered
Chosen Option : 1

Q.2 Rearrange the parts of the sentence in correct order.
The absence of
P. data on the migrant workers was
Q. formulating effective policy decisions and
R. preventing the governments from
S. strategies for the welfare of migrant workers

Ans X 1.PSRQ
« 2. PRQS
< 3.QPRS
X 4.RPQS

Question ID : 264330104673
Status : Not Answered
Chosen Option : --

Q.3 Select the option that can be used as a one-word substitute for the given group of
words.

A person who criticises traditional beliefs and customs
Ans X 1. Heretic

«” 2. Iconoclast
75 3. Absconder
5 4. Apostle

Question ID : 26433072546
Status : Answered
Chosen Option : 4




Q.4 Select the most appropriate option to fill in the blank.

| felt elated at the news.
Ans ¢ 1. strangely
25 2. customarily
< 3. typically

25 4. commonly

Question ID : 26433059588
Status : Answered
Chosen Option : 1

Q.5 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The students usually asks / for a bonus time of / thirty minutes for / completing their
projects.

Ans X 1. thirty minutes for
«” 2. The students usually asks
25 3. completing their projects

/< 4. for a bonus time of

Question ID : 26433089278
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The students were warned on coming late to school.
Ans X 1.warned at

75 2. warned with
< 3. warned in

«” 4. warned against

Question ID : 26433088170
Status : Answered
Chosen Option : 1

Q.7 Select the INCORRECTLY spelt word.
Ans X 1. Musk

o 2. Extarnal

< 3. Angel
#< 4. Decide

Question ID : 26433070624
Status : Answered
Chosen Option : 2




Q.8 Select the most appropriate ANTONYM of the underlined word.
The singer complained to the police that she was purportedly attacked back stage
immediately after the concert.

Ans X 1. Severely
«” 2. Impossibly
/< 3. Dramatically
< 4. Maliciously

Question ID : 26433061563
Status : Not Answered
Chosen Option : --

Q.9 Select the most appropriate meaning of the underlined idiom that can be substituted in
the following sentence.

Let us know what you think in black and white.
Ans X 1.in black and white paint

o 2. in writing
< 3. verbally
< 4.in darkness and light

Question ID : 26433072228
Status : Answered
Chosen Option : 2

Q.10 Select the correct passive form of the given sentence.
He drank a lot of coffee before the marathon.

Ans 1. Alot of coffee was drunk by him before the marathon.
/< 2. Alot of coffee was drunken by him before the marathon.
< 3. Alot of coffee had been drunk by him before the marathon.

25 4. Alot of coffee is drunk by him before the marathon.

Question ID : 264330104557
Status : Answered
Chosen Option : 1

Q.11 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

One of the major challenges / he faced during his / undergraduate days were / the
shortage of money.

Ans X 1. One of the major challenges
5 2. the shortage of money
«” 3. undergraduate days were

5 4. he faced during his

Question ID : 26433089280
Status : Answered
Chosen Option : 3




Q.12 Select the option that expresses the given sentence in passive voice.
They flew a kite in the evening.

Ans X 1. Akite was being flown by them in the evening.

5 2. In the evening, a kite have been flown by them.

o 3. A kite was flown by them in the evening.

25 4. A kite has been flown by them since evening.

Question ID : 26433088547
Status : Answered
Chosen Option : 3

Q.13 Select the most appropriate meaning of the given idiom.
Red tape
Ans X 1. Catch someone at the moment they are doing something wrong

o 2. Official rules and bureaucracy that make it difficult to do something
/< 3. Something unimportant that takes attention away from the main subject

% 4. Have a negative amount in your bank balance

Question ID : 26433060467
Status : Not Answered

Chosen Option : --

Q.14 Select the most appropriate ANTONYM of the underlined word.
Social economics is a meta-discipline in which economics is entrenched in social,

political and cultural behaviours.

Ans 1. Transient
5 2. Startling
/< 3. Averted
5 4. Entrusted

Question ID : 26433061569
Status : Not Answered
Chosen Option : --

Q.15 Choose the incorrectly spelt word.
Ans & 1. Subsistance

< 2. Aggravate
< 3. Knight
< 4. Benchmark

Question ID : 264330104745
Status : Answered
Chosen Option : 2

Q.16 Select the correct direct form of the given sentence.
Meena said that her parents were getting divorced.

Ans & 1. Meena said, "My parents are getting divorced."
/< 2. Meena said, "My parents were getting divorced."
/< 3. Meena said, "My parents will be getting divorced."
< 4. Meena said, "My parents get divorced."

Question ID : 264330104628
Status : Answered
Chosen Option : 1




Q.17 Select the most appropriate synonym of the underlined word in the given sentence.
The young fellow was innocent and without guile.

Ans o 1. Deceit

25 2. Morality

< 3. Pride

75 4. Greed

Question ID : 26433071964
Status : Answered
Chosen Option : 2

Q.18 Select the most appropriate option to fill in the blank.
Either he is mad, or he feigns

Ans X 1.happiness
/< 2. sadness
¢ 3. madness

/5 4. calmness

Question ID : 26433086342
Status : Answered
Chosen Option : 3

Q.19 Select the option that can be used as a one-word substitute for the underlined group
of words in the following sentence.

Sita seems not to be affected by the pleasures and pains of life.
Ans X 1. strict

& 2. stoic
5 3. active
X 4. passive

Question ID : 26433072755
Status : Answered
Chosen Option : 1

Q.20 Select the most appropriate synonym of the bracketed word to fill in the blank.
Your words seemed more like a demand rather than a (request).
Ans X 1.contract
< 2. order

/< 3. compromise

o 4.plea

Question ID : 26433060682
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Being constant (1) repeating a task or action, or performing an activity without a
stop or interval. Consistency can never be attained in a sporadic or (2) manner.
When you perform anything regularly or constantly, you will not only build expertise in that
area, but you will also gain a better (3) of it. Because of the greater amount of effort
put in over a longer period of time, this enhanced comprehension is (4) .Asa
result, consistency is the (5) that allows anyone to consistently put in the effort.
SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 7 1. entails
< 2. envelops
X 3. figure
< 4. initiates

Question ID : 26433084793
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Being constant (1) repeating a task or action, or performing an activity without a
stop or interval. Consistency can never be attained in a sporadic or (2) manner.
When you perform anything regularly or constantly, you will not only build expertise in that
area, but you will also gain a better (3) of it. Because of the greater amount of effort
put in over a longer period of time, this enhanced comprehension is (4) .As a
result, consistency is the (5) that allows anyone to consistently put in the effort.
SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans X 1.focus
X 2. discipline
o 3. intermittent

X 4. casual

Question ID : 26433084794
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Being constant (1) repeating a task or action, or performing an activity without a
stop or interval. Consistency can never be attained in a sporadic or (2) manner.
When you perform anything regularly or constantly, you will not only build expertise in that
area, but you will also gain a better (3) of it. Because of the greater amount of effort
put in over a longer period of time, this enhanced comprehension is (4) .Asa
result, consistency is the (5) that allows anyone to consistently put in the effort.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. comprehension
25 2. decision
/< 3. ignorance

X 4. estrangement

Question ID : 26433084795
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Being constant (1) repeating a task or action, or performing an activity without a
stop or interval. Consistency can never be attained in a sporadic or (2) manner.
When you perform anything regularly or constantly, you will not only build expertise in that
area, but you will also gain a better (3) of it. Because of the greater amount of effort
put in over a longer period of time, this enhanced comprehension is (4) .Asa
result, consistency is the (5) that allows anyone to consistently put in the effort.
SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans X 1. destructible
< 2. fluctuating
o 3. feasible
< 4. credible

Question ID : 26433084796
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Being constant (1) repeating a task or action, or performing an activity without a
stop or interval. Consistency can never be attained in a sporadic or (2) manner.
When you perform anything regularly or constantly, you will not only build expertise in that
area, but you will also gain a better (3) of it. Because of the greater amount of effort
put in over a longer period of time, this enhanced comprehension is (4) .As a
result, consistency is the (5) that allows anyone to consistently put in the effort.
SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans & 1.instrument
X 2. apparatus
/< 3. resistance

X 4. utensil

Question ID : 26433084797
Status : Answered
Chosen Option : 4
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